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I. HEAVSIDE LORENZ (HL) UNITS

m A. MKS to HL Units
e To convert from MKS to HL set €, = 1 (and thus p, = 1/¢?) and recognize that all
(magnetic MKS quantities) xc¢ are the corresponding HL quantities. (Some magnetic
quantities we will study are the magnetic field, the vector potential, and the magnetic
moment, B, A, m)
Example: the magnetic potential energy
1BYgs 1 2 _ 1po
== ~(cB = = 1.1
Us 2 1y = 2(0 MKS) zBHL (1.1)
Example: The poynting vector
1
S= Emks X Buks = Emks X (cBuks) = Enr X Buy (1.2)
Example: The force law
v v
F = quks(Emrs+V xBuks) = quxs(Emxs + X cBuxks) = qur(EnpL+ e ByL)
(1.3)
M
B. HL to MKS
o The relation between charges and and currents in the HL and MKS units are
QMmKs 1
= 1 =0. N -m? 14
QHL NG - /e (1pC) =0.336 VN -m (1.4)
I I
% = \’%‘CS =/ol - V(1 amp) =0.00112 VN - m? (1.5)
e The relation between Field strengths and is
Ey1, =v/¢o Emks — 6 (1kV/em) =0.2975/N/m?  (1.6)
1 1
By =+/€ (CBMKS = Buyks — : 1 Tesla) =892.062 v/ N/m? 1.7
Veo ) N m( ) VN/m?  (L7)
&
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